kG —EER (F0 54 8 HEIE)

NTERT — 2

1 INER
fii 3% 4 FITAE Hh M | AREUE | MR | BRI
1| BBV Rr[BFHTAS BRI 2 9 75 RC | S39 3 5,306 i
(s 1 & b H=RET)
2 | PN B HHETPE R 3 8 2 M RC | S39 3 7,517 nd
(s 1 & b H=RET)
3 | AR A BT — 2 MHIET 1 6 K RC | S36 4 7,480 nt
(it 7 & b #E, K2 57 8T)
4 | RNFRE Bkl T H 29 5% RC | S45 3 8,903 ni
(W% 7 L bR, WEY 5 78T)
5 | MBI | A7 T H 3E RC | S46 3 7,753 nf
(W% 7 L bR, WEY 5 78T)
6 | RE/NFE APRMT PR 1 4 7 5 %M RC | S50 3 4,590 ni
(iR % 1 & b E=EET)
7| SR INERR IR ET =R 2 FHh 1 RC | S52 4 6,849 ni
(W% 7 L bR, WEY 5 78T)
8 | FE/NTFAL SHTREEE 3 FKH 7 5 8 RC | Sh4 4 5,268 ni
2 R
fii 3% 4 FITAE Hh M | AEEUE | MR | BRI
1| BB VG HHTREH: 4 F b 1 RC | S39 3 14,828 ni
KRR SKHTE 2 (L5 0 & Hh RC | S50 4 11,396 nf
AR AT L 1 RC | S56 4 11,407 nof
3 RAEFT
fiti 3% 4 FITAE Hh M | AEEUE | MR | BRI
1| HFOERER | CRHTES 1R 1 RC | S46 2 1,253 ni
2 | ZHARERE | CHE=TH1EM RC | S47 2 1,224 nd
3 | #ERAE ST RAR 3 0 K2 7 3 RC | S47 2 1,050 nd
4 | PERE R FrmTRISE 1 0K 1 0 RC | S48 2 1,315 nf
5 | RIREE BroElr T H 3 3 3% M RC | S50 2 1,084 nf
6 | FEEBIRE R SERTHM 1 0 0 & it RC | S52 2 2,526 ni
7 | aESRE WEKETEEAR 1 2 1 2K H16 6 RC | S54 2 906 nt
4 ZOfh
fii 3% 4 FITAE Hh M | AEEUE | MRS | BRI
1 | R EE | ZAE3THILFM RC 1 50.72 ni
ZINE 1EHMHMS5 441 0 4 5

(M SZAT BOE NHR T 7 AR 20 &

DEEW - 5 BEET)




